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erte the value of each banknote:
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10 pounds

20 pounds

1 pound

100 pounds

50 pounds

5 pounds

200 pounds

BDSIGIFBRIDIDISIBBIIBBDISIDIIBBISDIDIDIBBDISDDISIDDBIBD
BSHDDDIDISIBIBIDBIBISIBBIDIIBIDIDIIBDDIIBIDIDIBBDISIIDIDIIBDDISIBBIBD

aeoddadadtdadadddadiijidamddadadddmdddad

KTABYEG.COM



https://ktabyeg.com

amSehhdohdtttottR000eR00RMEE® Ind pime 2nd term 54
" What can you buy with the given money?
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@erte the money:
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» Color as the example:
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% Color your banknotes to create each amount shown %,
o as the example: -‘
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@Add the money, and then match:
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Sheet (2) Adding and subtracting two numbers

Read and trace:
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6
» Solve the story problems:

2 (1) Ali and his brother put their money together to by a video
game. Ali had L.E. 42 and his brother had L.E. 57. How much
money do they have all together? .

B

They have = ........ +oeeeeee. =L.E..........

(2) Aya saved L.E. 33 in one month. The next month she saved
L.E. 24. How much money does Aya have in all?

V¢
She have=........ Fonn, =L.E.uo...... “@’ |

&

(3) Tarek bought a book for L.E. 44 and a new football for L.E. 44.
How much money did Tarek pay altogether?

(4) Mohamed saved L.E. 63 and his sister Rahma saved L.E. 35.
How much money did they save together?

They saved = ........ Forriennn =L.E..........

X
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» (5) Salma was given L.E. 29 for buying something. She bought a
basket of fruit for L.E. 14. How many pounds does Salma have #
left?

The left money =......... " eeeeeeces =L.E..........

(6) Mostafa was given L.E. 99 for his birthday. He bought a new
pair of shoes for L.E. 86. How many pounds does Mostafa
have left?

The left money = ........ -

(7) Aesha had L.E. 89, she gave her brother L.E. 27. What is the
remainder with her?

V¢
The remainder=........ s =L.E.......... “QJ

€5

(8) Mostafa wants to buy a sandwich for L.E. 25. His father gave
him L.E. 45. What is the remainder with Mostafa?

The remainder=........ - reeeeens =L.E..........
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- Mai went to the market. She bought some juice for L.E. 25 and
some milk for L.E. 38, how much money did she spend in all?

ED

- On Sally's birthday, her grandmother gave her L.E. 382 and her grandfather
gave her L.E. 143. How much money did Sally have now?
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- Alya and Jasmine went to the market, they bought some milk for L.E. 24
and some meat for L.E. 57. How much money did they pay in all?

ED

- Sally saved L.E. 720, she bought a dress for L.E. 180, how much
money was left with her?
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- Marwa has L.E. 962. She went to the clothes shop. Marwa bought a dress
for L.E. 358. How much money left with her?

- Khaled had L.E. 718. He bought a scooter for L.E. 291. How much money
left with him?

...............................................
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Sheet (3): Even and Odd Numbers
Read and trace:
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@Color even numbers red and numbers T

g 41 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50
=| 31 33 34 | 35 | 36 | 37 | 38 | 39 | 40
§ 21 23 24 | 25 26 27 | 28 29 | 30
ol 11 13 14 15 16 17 18 19 | 20
ol IR 3 4 5 6 7 8 9 10
@ 5
2 Double each number than determine if the sum is
# Even or Odd: "
-

g Number Double Even or Odd?
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opt as the example:
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Addition operation Sum Even or Odd?
4+5 9 Odd
3+1
7+5
9+2
7+8
5+3
6+4
1+1
7+2
8+3
9+1
8+1
2+5
7+2
5+9
3+7
4+7
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6+6
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@ Color even numbers red and numbers :
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Find the sum using the picture then color even or

odd:
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Which number is odd?
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Which number is even?

Which number is odd?

even or odd even or odd

1+7 D

even or odd even or odd

D

8+2 %= |

even or odd even or odd
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Sheet (4) Arrays - Pattern

Read and trace:
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s Complete the number pattern:
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12 14 16 18

NN NN

Use the given rule to complete the number pattern:

Rule: +5, -1

34! I ) I

Now create your own number pattern and rule:

Rule:

EEﬁE E
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&
> Count the rows and write the addition equation. Then @

ﬁ count the columns and write the addition equation:
=0}

an Rows:

@ _____

E L B S Dy kol Columns:

=

=0}

=t \_/YW
=0}

an - -~ m  Rows:

=)

=6 ™ ™

- Columns:

=00}

=)

=6 m
=)

o PP Rows:

g A Columns:

0]

b m
00}

an ‘

00} f Rows:

o) _

g , ‘ Columns:

00}

0]

=) m
E A AWA A

) @'’

B X WA XY
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R YY)

g i‘\ i.\ Columns:

@ . s

o A AWA A

o @f @°

=00}

00}

00}
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DHSHHONEOHNNOOOOHNSOONHHBHR R I rine 20 tem e
@ Complete then create your own array:

@
@ )
g &r & i i ROWS: ... the equation:
g &, &' i t Columns: ... the equation:

g \ t & 1’ & Thisisa ... by .. array

G

0

6} . -

§ % § & 6 Rows: ... the equation:

e &|&&E& N

an — — olumns: ... the equation:

& é é & % This is a b

an - - —  Thisisa.... AV array

%\ & & & &

G

[

00} Rows: . ... the equation:

E e e e e Columns: ... the equation:

g e e ‘e e Thisisa ... by ... array

AN

G

6

G

g ‘ ‘ ‘ ROWE: oo the equation:

g Columns: ... the equation:

g ‘ ‘ ‘ Thisisa ... by ... array

™\

G

g Rows: ... the equation:

g Columns: . the equation:

E \ Thisisa ... by ... array

G

G

e §='ca @@@@@@@@@ T adadamdmadandand

mozkratgahza.com
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MO AaOMNAaOMMaMEEM I prime 2nd term £

Rows . .. with equation ...
Columnss: ......... With @QUARION ....ussssssssissis
Array is called ... by ...

Write the name of each array:

=)
=6
=)
=6
=0
=6
=0
=6
=)
=6
=)
=6
=0
=)
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=)
=0
=0
=0
=)
=0
=0
=60
=0
=60
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=60
=0
=60
=0
=60
=60

BSHDDDIDISIIBIBIBBISISIIBIBIDISIIDIDIBBDISIBIDIDIIBIBDISIIDIIIBDDIIBBBIBD

nmasannantalB)nnnnnonnansanannds

s ot KTRBYEG.COM
14
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eLd
S X -
=
0
=3

BRABR
BARAR

LABAAA
ABABRA
RARRAGR

@
=6
=0
=6
=0
=6
=)
=6
=)
=6
=0
=)
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=)
=0
=0
=0
=)
=0
=0
=60
=0
=60
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=60
=0
=60
=0
=60
=60

O OO O O ORI ) @ feaddmdddaddddmdande

VL rmeitoghe KTRBYEG.COM

mozkratgahza.com
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am i dfmfamm MMM ad Id prime 2nd term &

Sheet (5) Estimating - Roundingﬂ
Read and trace:

ED

o
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

BSHDBDIDISIFBIBISISIBLDISBIBISIBIDISBDISIBLDISIDILIIBBIDISBIDIIIBB

v ddadadad e add @ fodddmdddaddendmaad

s ot KTRBYEG.COM
14

mozkratgahza.com

ED
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=R

Hoeoannhenasahfosdfadd®e: Id pine 2l tm ¢
@ - Rewrite the problems then estimate the resuits:

IDDBDBBDIFLIFLDDLBBIIBIBBLIBBIBBIIIBBLBBIIIBBLD

ED

1. Estimate: 32 + 54
2. Estimate: 53 + 15
3. Estimate: 57 + 22
4. Estimate: 35 + 92
5. | Estimate: 234 + 140
6. Estimate: 378 + 234
7. Estimate: 93 - 41
8. Estimate: 86 - 25
9. |Estimate: 72 - 54
10. | Estimate: 581 - 348
SO O O OO OO O OO =IO === 08 R R R R R AR R A Ea R a wa a a  fn

8,3\ o\, Tin
mozkratgahza.com

BSHDDDIDISIIBIDBISISIIBIDISIBBISIDLDISIBBISIDBDISIIDIIIBIDIIDDIIBSD

i
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E S| EEﬁEE E SLUIRE SLUIN: SLul): SLUIY- S
G .
« Match:

=)
=6
=0
=6
=0
=6
=)
=6
=)
=6
=0
=)
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=)
=0
=0
=0
=)
=0
=0
=60
=0
=60
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=60
=0
=60
=0
=60
=60

i
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

s ot KTRBYEG.COM
14

mozkratgahza.com
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amSehhdohdtttottR000eR00RMEE® Ind pime 2nd term 54
o 2 Round (approximate) to the nearest 10:

g The rule: 5 or more 1 up more
% The number To the nearest 10
= 36

=2 25

= 8 77

=4 89

= |5 48

@ |6 65

@ |7 29

@ |8 36

@ o. 17

@ [10. 21

o (1. 34

2 12 72

2 |13 83

2 |14 64

2 |15, 92

2 |16. 81

o |17 73

2 |18, 62

2|19, 79

2 |20. 51

6

6

ﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬁﬂﬁﬁﬂﬁﬂw @@@@@@@@@@@@@ﬁ@@l

Sm\or O\ T “THE!EE Enm
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Ro t he nearest 10:

95 closest to 74 closest to Q
68 closest to Q 21 closest to Q

89 closest to Q 18 closest to < >

Round to the nearest 100:

IDDBBBBDIFLVFLDDLBBIIVBIBBLIIDBABBIIIBBLBBIIIBBLD
%‘L—@S@S@S@S@5@5@5@@S@S@S@S@S@S@@@@@@@@@@@@@@@@@@@@@@@S@&@S@&@@&@S@@i@@@&@i@ﬁ:

nmanannanta3nnnnnnnansananmds

Sralsr O\ T e “THH!EE Enm
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O HOROONRnn LNt OnRRamaedd®®: I pine 2nd tem £
@ Round to the nearest 100:

284 . 765 ... 143 .. 937 . 498 .

396... 412 . 252 .. 749 536

Estimate the sum and the difference as the example:

IDDSBBBDIFLIFLDDLBBIIVBIBBLIDBBIBBIIIBBLBBIIIBBLD
BSHDDDIDISIBIBIDISISIIBDISIBASIBLDIBIBBISIBIDIDIIBIDIIIBIIDIBBDIIBBE

LoadOOHOMOeHaCYyaMdadddmdddmdanddd

Sralsr O\ T e “THE!EE Enm
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Mmoot dadatdadddddadd Ind prime 2nd term £
Sheet (6) Adding |

ED

Read and trace:

v ddadadad e add @ fodddmdddaddendmaad

it o1 Sin KTRBYEG.COM
*

mozkratgahza.com

o
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

BSHDBDIDISIFBIBISISIBLDISBIBISIBIDISBDISIBLDISIDILIIBBIDISBIDIIIBB

ED
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ED

Hundreds Tens

W b
N O

Hundreds Tens

5 | 1
3| 7

Hundreds Tens

5 | 1
3| 7

Hundreds Tens

- O
O

Hundreds Tens

Hundreds Tens

a N
(o) o o)

Hundreds Tens

Hundreds Tens

Hundreds Tens

Hundreds Tens

a O

Hundreds Tens

Hundreds Tens

N N

=6
=)
=6
=0
=6
=0
=6
=)
=6
=)
=6
=0
=)
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=)
=0
=0
=0
=)
=0
=0
=60
=0
=60
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=60
=0
=60
=0
=60
=60

Hundreds Tens

9]
o

mozkratgahza.com
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Hundreds Tens
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HHssOhaathhhanhhshhanddadd i rine 2 tm
- Add: o
: :
&
an (- T\ ( N ( e ( N =)
@ | 45 19 1 28 1 89 =
o (+) (+) (+) (+) @
PN 9 16 46 ®
"o — t ’— ®
&% “®
= ®
& “®
Sy S P :
® 38 A 43 .90 -
o (+) (+) (+) &=
= 16 18 13 ®
® b ®
= ®
o ®
: :
®

®
o 19 il s o
an <+) ("’) 0}
o= 18 7 o
= b “®
® ®
* “®
® ®
& “®
gAdd as the example: g
o o
@
& 1 <— e ] t
@
@ @
o 6 3 ﬁ 5 4 ﬁ 4 3 ﬁ g
= +27 [10o] + 238 +39 P4
® T T o
®
n 90 w @ @ b
® ®
® ®
® @
® @
® ®
=

aomansnanannsanBnannnnnnnsnsansad

S\ o\, Jin “TH“!EE.E“M

mozkratgahza.com
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MO AaOMNAaOMMaMEEM I prime 2nd term £
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S @@@@@@@@@1‘@@@@@@@@@@@@@ e

e ol S KTREYEL.CD
mozkratgahza.com *



https://ktabyeg.com

g=
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Sheet (7): Fact Families
Read and trace:

ED

o
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

BSHDBDIDISIFBIBISISIBLDISBIBISIBIDISBDISIBLDISIDILIIBBIDISBIDIIIBB

v ddadadad e add @ fodddmdddaddendmaad

s ot KTRBYEG.COM
14
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Dmddadddaddddadfdddaad Ind prime 2nd term £

on the fact family house:

IDDBDBBDIILIFLDDLBBIIVBIBBLIIBBABBIIIBBLBBIIIBBLD

ED

8,3\ o\, Tin
mozkratgahza.com

My fact family house

11
8 N 3

~
~
e

ce (&5
i
Y
=

~
il L
3 ="

=
N
0
=)
J
0
S8

|

}
W =
W

=
"
&

amansmnsnansnananai{l)nnnnnsnnsansansnasad

KTABYEG.COM

W oW om0

o
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

2
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=
4 - Complete the numbers to make a fact family:

Ip S 4 S
i & @ &
= s = =]
=) s = =

TS0 T~

Use the number line to find the result:

- w 9
29 -4=18 ==
\ - ;_’;_;&\Q} s =
A, B
10 11 12 13 14 1516 17 18(::;0(\2.1[\22 23 24 25 26 21 28 29 30 4 8|° 8|1 8|2 813 8:' 815 8l6 811 8l8 819 910 N
Wau, o, Pl
- il 1

17-4-=

N
P Ny - b
)"b N

50 51 52 53 54 55 56 57 58 59 60 10 11 12 13 14 15 16 17 18 19 20

4l 1 1 1 1 1 1 ] 1 1 Ly 41 1 1 1 1 1 1 L 1 | L)
ol 1 1 1 |l 1 1 1 I I r b, I I I i 1 1 I Ll Ll | D 4

IDDBBBDIFLVFLDDLBBIIVBIBBLIIBBABBIIIBBLBBIIIBBLD

ED

SO0
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famddaaadfadfdoaamoadaaddd Ind prime 2nd term A4

aomansnnsanannnna{B)annnnanannnsnnmnns
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SOOI

4 - Story problems:

Ali has L.E. 100, he went to a store to buy a video game that cost
L.E. 183, how much more money does he need to buy this video
game?

O T~

Nora had L.E. 99, she gave her brother Adam L.E. 58, how much
money was left with her?

The money left with Nora=LE. ...........

T O T~

IDDBDBBDIFLIFLDDLBBIIVBIBBLIBBABBIIIBBLBBIIIBBLD

ED

SO0

mozkratgahza.com

MM dffdfamddaadd Id prime 2nd term £

amasmnsnnasnanna{i)nennnnannanasannsnad

Sralsr O\ T e “THH!EE Enm

o
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

2
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am i dfmfamm MMM ad Id prime 2nd term &

ED

Sheet (8) Decomposing a number
Read and trace:

o
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

BSHDBDIDISIFBIBISISIBLDISBIBISIBIDISBDISIBLDISIDILIIBBIDISBIDIIIBB

v ddadadad e add @ fodddmdddaddendmaad

areRiile KTRBYEG.COM
14

mozkratgahza.com

ED
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OO
4 «» Decompose the following numbers:

MM dffdfamddaadd Id prime 2nd term £

IDDBDBBDIFLIFLDDLBBIIDBIBBLIBBABBIIIBBLBBIIIBBLD

ED

SO0

8,3\ o\, Tin
mozkratgahza.com

a;masmnsnnasnanna{i)nnnnnananasannsnad

KTABYEG.COM
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Lttt ettt dE Ind prime 2nd term 254
2 Subtract:

IDDBDBBDIFLIFLDDLBBIIVBIBBLIBBABBIIIBBLBBIIIBBLD

ED

dddddaamadddna @ mdddddddamddddd

Sralsr O\ T e “THE!!E Enm

mozkratgahza.com
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HOEBHOBOHBREHHRNHHHNHHHHBRHHD i Kine i bm 3
2 Match:

=)
=6
=0
=6
=0
=6
=)
=6
=)
=6
=0
=)
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=)
=0
=0
=0
=)
=0
=0
=60
=0
=60
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=60
=0
=60
=0
=60
=60

o
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

O OO O O ORI ) @ fodddmdddaddendmaad

s 21,5 KTREYEL.COM
mozkratgahza.com ¢

ED
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NOOBHDOONOHRSODDROOHDRHOMDSS I pine 20 tem £
Sheet (9) Fractions

ED

Read and trace:

v ddadadad e add @ fodddmdddaddendmaad

it o1 Sin KTRBYEG.COM
*

mozkratgahza.com

o
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

BSHDBDIDISIFBVIBISISIBLDISBBISIBLDISBDISIBLDISIDLIIBBIDISBIDIIIBB
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A A 2y A A A A, s i ey . A, s s A Ay s a9 ptime 20 ferm 234
@ - Notice, and then circle the correct sentence:

@
=6
=0
=6
=0
=6
=)
=6
=)
=6
=0
=)
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=)
=0
=0
=0
=)
=0
=0
=60
=0
=60
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=60
=0
=60
=0
=60
=60

equal parts equal parts
unequal parts unequal parts

equal parts equal parts
unequal parts unequal parts

equal parts equal parts
unequal parts unequal parts

equal parts equal parts
unequal parts unequal parts

equal parts equal parts

unequal parts unequal parts

O OO O O ORI ) @ feaddmdddaddddmdande

e ol S KTREYEL.COM
mozkratgahza.com

ED
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SHEOeOOeeOaneSananha®ae: Ml mne 2 Em B
o Notlce and then color the shape with equal parts: .

IDDBBBDIFLIFLDDLBBIIBIBBLIIBBABBIIIBBLBBIIIBBLD

D Vv v v
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M s dddndnandnan: Ind prime 2nd term ﬁl
@Are the parts equal? Color Yes or No:

Yes Yes ' Yes |-
No ) . No 4 No
Yes Yes ) s Yes

_ ‘[LNO‘ (No )} ;' e No )

Divide each shape into 2 equal parts

SDDBBBDIFLIFLDDLBBLIILVBIBBLIBBABBIIIBBLBBIIIBBLD

ED

D N () P o

Sra\lr o\ TIie “T“E!Eﬁ Enm

mozkratgahza.com
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PMaatdfaffdtofdfffadeddddd Ind pime 2nd term £

2 equal parts
Each part is a half ( %).

” N\
Wi
LT
D s -

3 equal parts
Each part is a third (%).

4 equal parts
_ Each part is a quarter or a fourth (%).

One whole

EEﬁ
=)
=6
=)
=6
=0
=6
=0
=6
=)
=6
=)
=6
=0
=)
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=)
=0
=0
=0
=)
=0
=0
=60
=0
=60
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=60
=0
=60
=0
=60
=60

BSHDDDIDISIIBIBIBBISISIIBIBIDISIIDIDIBBDISIBIDIDIIBIBDISIIDIIIBDDIIBBBIBD

fooddadadtdadadddany)idatrddadiadddmdddad

[FEEACI P ST “Tn“!!ﬁ.ﬂnm
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fmddadddaadfdadfdddaad Ind prime 2nd term B4R

-_ ne part, then color the matching fraction:

[\
\_/

DR

A\

OIOI6

N
alees

BIOIC)

2 3 4 v

(X

OIOIO

OIOIC)

QIO

PE®

@
=6
=0
=6
=0
=6
=)
=6
=)
=6
=0
=)
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=)
=0
=0
=0
=)
=0
=0
=60
=0
=60
=0
=0
=0
=0
=0
=0
=0
=0
=0
=0
=60
=0
=60
=0
=60
=60

PN

I @@@@@@@@@ O =R ROl OO OO O N6

KTRBYEG.COM
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it dd Ind pime 2nd term #3¢R
4 « Write the fractlon that represents the shaded part:

(A% S

1
|

Third | |
é |

Remark:

{850t 08:08

Y 1
ﬂgj/é ’/AD”—DLUI?DQ @

V/ | "] e
18 0% 080

)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

IDDBDBBDIILIFLDDLBBIIBBIBBLLBBABBIIIBBLBBIIIBBLD

ED

PoOdaOadOedaeaQyOadaddddaddadmadd

Sralsr O\ T e “THE!EE Enm
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HOOO0NSOSOODODDNSRD Il pine 20d em B
@Tlck (/ ) as the example:

-----------------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------

-----------------------------------------------------------------------------------------------------------------------

ki bbbl bl de e dede el g g dod e dedede e dde e
&
&
&
.
w| =
3DRDDIDIRIDIBIBBBBHDIBDIBDIDBBIBDIDDDIDIDNDIDIBDIIDVBDIDDDIDDE

aeadddddadadddddd @ foaddddddiddddmdandd

Sralsr O\ T e “THE!EE Enm
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@ Color the correct answer:
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A fraction, its A fraction, its
numerator is 1 and numerator is 2 and

its denominatoris 3 /,, its denominator is 3

D@

A fraction, its A fraction, its

numerator is 3 and numerator is 1 and

its denominator is 4 its denominator is 4

& @ Q ORORC)

A fraction, its

A fraction which
numerator is 2 and

represents a half

OO0

its denominator is 4

DO
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Sheet (10) Fractions (follow)
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Read and trace:
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@ Look and answer:

« What fraction shows red apples? S

« What fraction shows green apples?

« What fraction shows yellow apples? | —

Look and answer:

’eés

1. What fraction of the flower is red?

2. What fraction of the flowers are blue?

3. What fraction of the flowers are red AND blue?
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Write the fraction that represents the colored :.
@objects.
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OO
@erte the fraction that represents the girls & the
@boys.
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®, Color according to the shown fraction:

Whole one
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EOEOONeOOtOO0NaOnRanROORS e i Mue 20 tm HE
®, Color according to the glven fraction: §
® : =
o o
@ g &
2 1 2 2
& Color — ¢ Color — &
& \/ 4 5 &
@ &
=0 )
AR R AR LA AR S isessissiunenasessananisssssssssartrtsessssestertsesess )
@ @
i &=
@ &®
& : 1 : _ b
& Color —- ¢ Color — %
=) 3 : 5 an
oy &
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=60 : =)
& 2 3 &
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@ ................................................................................................................. @
oy : oy
@ @
® : =
2 L9
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Sheet (11) Bar graphs
Read and trace:

ED

o
)
=6
)
=6
)
=6
)
=6
)
=6
)
=6
=)
=6}
)
560
)
60
)
560
)
=)
=)
=0
=60
=)
=0
)
=0
60
=0
60
=0
60
=0
560
560
560
560
60
60
60
560
560
560
60
60
60
=60
=60

BSHDBDIDISIFBIBISISIBLDISBBISIBLDISBDISIBLDISIDILIIBBIDISBIDIIIBDI

v ddadadad e add @ fodddmdddaddendmaad

it o1 Sin KTRBYEG.COM
14

mozkratgahza.com

ED
2



https://ktabyeg.com

L t te graph then answer the questions:

o
=)
ey

@ P
= a0 Favorite cake o=
e P
b @
an 70 | s
b @
=6 2 60 R %77 5 v -
=6 o | =6
@ O | [ 00 0 0 [ &
e & S0 &
=) (T ‘ n
@ o 40 : ........................................ @
=) 0 30 L. e I | - o =)
® £ =
o = i an
@ Z 20 ‘ ............................................................ @
B | &
=) 10 } ............................................................ eI, -
- mi
& i i o
= 0 =
& o
ot Chocolate Strawberry Marble Vanilla -
= &=
% Types of cake =
& -
b @
& - ny people liked ? hoiil, @
- 1- How many peop = @
o , o
#  2- How many more people liked € than wus ? P
& 3 &
E 3- How many people liked € " and &2 g
) -
g 4- How many more people liked than wus ? g
=) ) an
& 5- What is the least favorite cake? -
& -
il . . o -
an 6- What is the most favorite cake? ... =
& -
& -
& -
o
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PEREEHRMONEOOOODHHDEEDD MM DI Ind prime 2nd ©m 24
4 -« Look at the bar graph then answer the questions:

Favorite Fruit

N

70 _|

60 _|
w»
a
=0
o
LL
@]
o
]
o
=
-
=

—
APPLES DATES  BANANAS ORANGES
TYPES OF FRUIT
Questions:

1. How many people like oranges?

2. How many people like apples and bananas?

3. How many more people like bananas than dates?

4. What is the least popular fruit on this graph?
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Favorite Pizza Toppings

IR EEEOMMNNEMM MMM MRS Ind prime 20d m #24

ook at the pictograph then answer the questions:

Green , ‘ { { \ { ( :
Peppers ¥ ‘_g‘ y)gi “, ‘_gi 4":;. ¥, b,g. ﬁ‘
e | DD DI DD DD
4 4 4 4 £
owes | 40| 40| 40 | 4D | 4D
o o o A a
Mushrooms .b .b
» »
KEY
g&=2people
_
Questions:

1. How many people liked cheese and green peppers?

2. How many fewer people liked mushrooms than olives?

3. How many people liked cheese, green peppers, and olives?

4. How many more people liked cheese than green peppers?

5. What is the mostkind pizza topping on this graph?
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-- te pictograph, color the bar graph, and
@then answer the questions:
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=
& 7 .
e[ redteam | BB W C
=®
=
Gl Blue team @ @) @)
=
=
ﬁ Pink team @ @) @ ‘Q
=)
=
cyean | DB BBDD Y
=)
2\ J
g Key: each ® represents 2 goals / each Q represents 1 goal
ig 20 . - —
. 18 + b pe e e
w16
=)
e o 14
®m %= 12 4+ e e b e
@ D
o 5 10
= 0 8 1 E
e £ . 1 B . @l |
» 5 6
- 2 4 <+ el e e
=)
an 2
0] 0 1122 - - B I
o Red team Blue team Pink team Gray team
) Teams
=)
@ .
#  « Which team has the most soccer goals? .
=)
g  How many goals did the pink team and blue team score?
=6) .
@ * How many goals did the gray team score than the blue team?
=)
g « Which team has the least number of soccer goals?
=)
=)
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REHHEhOnanhehanhndhahRhRed®: Il pne 2 bm L
« Trace and color to form a bar graph then answer the ..

BE

@ questions: B
o &
b &
§ .\ &
@ G

=0 .. =6
) - @ &
0 AN £ ;.;;;‘,;;:::'\—e - ; -
G o e o
i &
)

) Blue fairy Orange fairy Green fairy Pink fairy “n
g 8 students 10 students 15 students 20 students g
=0 A 60
@ o 18 . e ) P
=6 W16 4 e sawiws]  esas) - (feowe & an
@ e ] A waanae  wween] 0 Ko Remember @
® Yo e e I - Toform abar graph, 2
@ | W S I (N (N we need: o)
& « Write a title. o
E - il AN (aigyn » Make a scale of B
- ! e . ™ | SR - (10r2or 5 or 10). b
an * Label each axis. B
« = 1T [ 11 | * Color each bar with g
an a different color. P
=60y i ] - an
o E)
b E)
G i G
g | can represent these data ale‘n on a pictograph: g
g « How many students draw an orange fairy? ... g
g « How many students draw a green fairy? ... | g
G o G
< + How many students draw a blue fairy? ... an
o &
# + How many students draw a pink fairy? ... &
o &
g &
G
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I Pemeitate KTRBNEG.COM

mozkratgahza.com



https://ktabyeg.com

ED

6}

& Write title *Label the axes «Make a scale - Graph the data
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g 20 friends 40 friends 10 friends 50 friends
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® Title : .
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@ o - - 7 L €60 00eveNeneerenes "

0

P Label :

0

0

0

g « Which pet was the most favorite? [ J

0

0

@ °

g « Which pet was the least favorite? ( ]

0

0
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o, Complete then circle the correct answer as the

@ example:

< °‘( - S -%éi(-“l("
PN N N

: ;:»1(0( ' - >L£(9( " - :5&,,(9"("

{ 4

‘ 3&(0( : o((O(’ »L”{(O(
? //\ /\
4. 4. z
COGEC Cg
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Array is 4 by 4

a.5+4=9
b.5+5+5+5=20
<>4+4+4+4=16

-----------------------------------------------------------------------------------------------------------------------

@?’ §/ @9‘

%e” d#y %

Array is by
a.3+3+3+3=12
b.5+3=8
C.3+3+3+3+3=15
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Array is

 a.4+4+4=12

b.3+3+3=9

Arrayis . by . .

i a.5+2=7

b.5+5=10

L C.2+5=7
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Sheet (12) Mental Maths
Read and trace:
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R fddddadadaddddtdadddd nd prime 2nd term ¢
« Solve using the number line:
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12+2= 24-4=

| | | | | | 1 | | | SR | | | I | | | | 1 |
.l 1 1 1 I 1 1 1 1 1 l1 ‘l | 1 1 1 | || I I l.
50 51 52 53 54 55 56 57 58 59 60 10 11 12 13 14 15 16 17 18 19 20

55 +4 = 17 -3 =

Solve by decomposing as the example:

86 80 6 28 34
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4 - Solve using fact families as the example:
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M daaaaddadfaafmaddmaadddd Il pime 2nd term £+

tory problems:

Malak had L.E. 160. She went to the clothes store, she bought a skirt
for L.E. 58 How much money remained with her?

The remained money = ... LE:

DO T~

Ahmed went on a picnic, he collected 29 red apples and 19 green
apples in the picnic bag. How many apples did he collect in all?
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am i dfmfamm MMM ad Id prime 2nd term &

Yassin’s mother made 37 cakes for his birthday party and his
aunt made 25 cakes also. How many cakes are there in all?

The total number of cakes = ... cakes.

Amar’s football team scored 28 goals and Marwan's football
team scored 19 goals, find the difference between the number
of goals of the two teams?

7%
v A "ol ’. . i\. )/“_ § 'l*‘-.,i _‘ " “\‘.7 "\‘ Y

The difference = ... goals.

o o
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ED

Amal bought a scooter for L.E. 183 and a teddy bear for L.E. 29,
find the total money she will pay.

She will pay = LE. ..o

O~

Samir bought a new book of 323 pages, he read 108 pages of them,
how many more pages does he need to read to finish the book?

The number of pages he has to read = ... pages.
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